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SI. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the vietim was stabbed the neck.
(1) on

(2) to

(3) in

(4) at

EEEEEILE: BRI RCE
(1) ol

) goid

(3) el

(4) HERT

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten _black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mereilessly

(3) to curse rudely

(4) to abuse repeatedly

o ST &1 SR Bd 99 Bhgl 9 Marar aTell arg WRa! 9 9801 & 91y Fdd 3 1 ded § 2
(1) I EoH

() Uy e

(3) 39T oo

(4) I oA

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw, was wearing

(2) saw. worn

(3) seeing. is wearing

(4) see, wear




JUIATE & 3ER Wil T IS A @ -

AT
B.FoR
C. 9 d
D. T
E. TUR

S fGu U foee § O 51 SR &1 9094 S
(1) B.A.D.C

2 D.E.B.C

3) EED.A.B

(4) C.A.E.D

1[Option ID=31373]

2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Identify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

il 1% 1Y Gl 11 D1 BT iforg

T T I
(R1=9) (FHTH)
GINEE) RS
Ard-Od [ [SfeEiIE
CEEE 11 [Sgdiie TA"
afdfed [V. [ag 999

1 14U 7T fosedl § 9 961 TR &1 98- HiuIe:
(1) A-IL. B-IV. C-ITI. D-I
(2) A-L B-II. C-IV. D-III
(3) A-IV. B-I. C-III. D-II
(4) A-IL B-IV. C-1. D-IT

=lEeli e

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Identify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




= 1% 1Y FE 11 DT e Hiforg
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NG [ [d&Hd Tk
B |=d 1. [facxi 2eg
C. [[dare M1 [dcdH Toi
D. [Of V. [G2of et

i U U [aeedl § O gl 3R &1 904 Sl
(1) A-IIL B-L C-IV, D-II

(2) A-L B-IV. C-II, D-IIT

(3) A-IL B-IIL, C-I, D-IV

(4) A-IV. B-I. C-III, D-II

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge. several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house, also fridge has been emptied.

19 ¥ ¥ s Wee 9 DI T8 DIT |

A. QY. faug, Y9, BT

B. WY&, g, gfd. i

c. U1, vEy, dfoar, af e

D. Y, ST, HaldHl, gi

E. 316, garsdl, IoHid, 3%

il fdu U fasedi § 3§ 98! SR &1 994 Pifulu:
1) C.E.D.A
(2) B.ALE.C
3) A.C.B.E
@4) C.B.E.A

1[Option ID=31385]
2[Option ID=31386]
3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow, Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh.




% 7 & we! yataars <sg 99g &1 997 HIfor |

A 5T - GfeTd, gL, AR, ofdol
B. dldld - 9, 94, dlef, dsHl
C. STd - 84, 3R, S, fafuT

D. 360l - 74, TR, yufd, yu
E. aN1 - gIF, S, 91k, a1
e feu T fomenl & 9 96t SR @1 997 S
(1) HITA, C.B.D
(2) HIAC.A.D.E
(3) BAWE, A, D.C
(4) $ATD, C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P: in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ

fafeiad O g o &
A ﬁg&gm@ﬁt
B.HJRR Wi RHF |
c. H ufaay Reen smarg |
D. GH®! 3191 1d 93ig o1 ¢ |
E. qH A g iR IR U TS & |
9 feu Tt fam el § ¥ 9ad 9ugad STk &1 99 BT
(1) HAAA.B.C
(2) $adB.C.D
(3) HAAB.C.E

(4) FAAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.

(4) I hope you will excuse leaving early.




el 13 |1y Gl 11 BT e Difoy

A1 TR
A [RR 0T S d1eH] W SECEIRED
B. |31 IR 11 [fepeli o ZRIR UR <ol
C. [3TE1 O AT TI1. [gre 5 3T
D.[3= TRI R G@ST8MT [V, [ARA & 7T oOR LT
+d f3u U [ds e ¥ 9 9gl 3R &1 994 BIfI:

(1) A-IL B-IV, C-II, D-1
(2) A-IV. B-III C-II, D-1
(3) A-IL B-III. C-IV, D-1
(4) A-l. B-II. C-IIL. D-IV
1[Option ID=31397]
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

= 1% 1Y FE 11 DT e Hiforg

T 1 HI 11
A [S @1 nad 5581 GRS
B. [[ST5H W @ 3981 8l 1 [gay
C. [§ =g PIgTE § M gl il EEI
D. [Sra®T e | (181 N EEIELD
1 fu e fomedl & § W8l IR o1 99 Bif:

(1) A-IL B-IV, C-I. D-II
(2) A-I B-II, C-IIL, D-IV
(3) A-IL B-III. C-IV, D-1
(4) A-IV. B-III C-II, D-1
1[Option ID=31305]
2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleic acids. which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N. Bose

(4) Har Gobind Khurana

FAREd & 9 SH-91 U YR SERe! oz faqrH! & o e & &3 § 14U &1 arel 1968 & ied [RPR
Soeg vt SR ¢ Sacy Bidt & 1Y ATl febat foriept fawa & Ug aiid © fob gfaiare st H Gfokmdierss ol o, ol i
DITAPI P AP DHE DI a5 DIAI & IR WICH DI DITRDT P HIAYUI DI (40 BT 8 2

) gy
(2) Hy—Te el
(3) TH. 0. 99
(a)




1[Option ID=31309]
2[Option ID=31310]

3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?

(1) Delhi
(2) Goa
(3) Manipur
(4) Haryana

YR & PR § 8 S H-3 7059 Wied 87 F 1Rd &1 W I8 S faufderay sefa g 2
() fEedt

(2) Tiar

(3) TR

(4) gl

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YReig ufaufa gEur ud do A faftres @adiomdiengua) = & 7t 89 Fie fifdr ag=g wifta 31 8 af i W safua g 2
(1) AYFTR 3R Aedl

(2) N AR AR

(3) TesHl 3R SRER

(4) IS SR Ga

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest sharcholder of ATIB (Asian Infrastructure Investment Bank) 7
(1) Germany

(2) France

(3) China

(4) India

H I P91 3 U 3T el (URATS AaE=H 39 §&) T Jad g91 SWYRT § 2
) S

(2) Y

() =i

(4) HIRc

1[Option ID=31321]

2[Option ID=31322]

3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515




Which of the following is TRUE about the Preamble to the Constitution of India ?

(1) 42% Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR Ay & Raa-1 & ar § Fafafea d S Fugi s »

(1) 42 § GfayM Iy g1 S § Uy FRUe R IHeae] 9ss &S 71U |
(2) dl. 3R, HASHR 4 URd D AGUH I Ie <l [ed] |

(3) TGy o IRl AU & fUf-am & uyrd |ret T |

4) TefRrep1 § Iiaur & AR 8 P 918 9 3 IR FEieE e |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 22™ from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Tsiodl 1 Ue dfda § E1 a9 9 7d Gl e 9 12d RIFA W g | 3F1 & 198 § 3101 o718 960 WU a3 220 /A |
TS § | 39 Ui A asfaal @ o e i g

(1) 35
(2) 33
(3) 38
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika 1s 9™ from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18! from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 22

(3) 24

(4) 25

T 1 U Uit | ST a1 ¥ od AR I S T 138 WA R T | o9 3 99 & -H g Al & af e oy ¥ 188 @
R Ao e | IR S I R A T A S e 2

(1) 23
(2) 22
(3) 24
(4) 25
1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 10" from left and Bimal is 9% from the right. When they interchange their positions. then Akash becomes
15% from the left. How many boys are there in the row ?

(1) 22

(2) 25




(3) 23
(4) 26

TSH! Bl UH UfGd &, MBI T4 T 103 3R [SAT AR Jod WM R T | 5T d 3109 § 30+ o118 960 dd ¢ dl ST a1d F 159
QAR S e | O e § b ass § 2

(1) 22

(2) 25

(3) 23

(4) 26

1[Option ID=31337]
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

LK.H. R.F. L N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R 1
third to the left of N but not neighbour of H or L. J 1s second to the right of Q. Who is second to the left of N ?

1 Q

(2) Forl

37

4 K

LK.HR.F.L N 3R QU R ¢dd & IRl 3R =5 DI R UG b 48 5 | L b alg AR AN WFRH § | K & 3 aller
%% ING AR IRAM YA RRGAPAIGGHIAIL FTUSRI ol 6 | Q P alle RGN VMW I G | N & Gl gk UH R DI

1 Q

(2) FUIN

3) 7

4 K

1[Option ID=31341]
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A B.C.D.E.F. G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B 1s the
neighbour of F and 4™t the left of D. E is the neighbour of H and 31 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B 1s to the immediate left of H.
(B) H 1s to the immediate left of E.
(C) D 1s 4th to the right of F.

(D) H is immediate right of E.
(1) only A and B

(2) only Aand C

(3) onlyBand C

(4) onlyA.BandC

U% 7d ¢§d & °R] 3R A. B, C. D, E. F. G ${R H RG0S &% &1 IR S PP 96 € | D, A DT U5l § AfhI HPIET | B.F Bl
TS g R DS T T WA RE IEHBI TS g IR F S g IR WA RE I CTTNATI IS g ARTAG 1|

AHS RATUBT |
BE®P RAGUHE |
CFHIHIIRFERDE |
D.EF RMAHT |

14 feu Tt fde el § ¥ 9a8 Sugad STk &1 99 BT
(1) Had A R B




) FHagadRc
(3) HaaB AR C
(4) FAAA. B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane, there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) a0

(4) 120

feret FHTd TR 16 TR-IXE fdg & aa didl s &t e fea- grft 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
is

(1) 100

(2) 150

(3) 200

(4) 400

feadt faemedf &1 3diivl 819 8 UIdids &1 30% 3id Witd &A1 8| afe 98 30 3% UIdl § o1 98 30 3@ 9 9B 8 oidl &, a9 RI&T &
10 aiftiean fba i RuiRa fea T & |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows is ¥ 12500. then the average cost of remaining cows will be ?
(1) F 6250
(2) ¥ 6520
(3) 7 6025
(4) 7 6052

P15 ofa 20 TR BT 200000 FUY & WiEd € | IS 12 7T 1 SId Tgd 12500 TIY 1. A A9 7T &7 SH19d Ged &1 g 2
(1) 6250 3T
(2) 6520%4U
(3) 6025 IUY
(4) 6052 FY

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]




Sl. No.24
QBID:15550524

A sum at simple interest of 13% 9 per annum amounts to ¥ 3080 in 4 yr. then the sum is

(1) 3000
(2) # 2000
(3) ¥ 1000
(4) 7 2500

% HIYROT ST &1 &3 F 4 I8 § 3080 BUT &1 9T & | I8 Y=RIT &

(1) 3000 T
(2) 2000 ¥YT
(3) 1000 9T
(4) 2500 3T

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

Sl. No.25
QBID:15550525

The system of equation 2y + 4y + 16 =0 and 3x + 6y + 24 =01s
(1) Unique solution

(2) Infinitely many solutions

(3) Inconsistent

(4) Only two solutions

TR0 P IS 2r +4y + 16 =Td 3x + 6y +24=07¢ |

(1) falwga

(2) 33U H 3D g
(3) 3R

(4) FHad algd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:351635311

AgvECNT EFvgar q:‘ﬁ‘ 2 NaE5E?
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(1) BTFU [T FHFN

(2) VI TWE YR FHFA

3) ‘ézﬂ'@_w A EX A

4) ‘Eﬂm@w 235

1[Option ID=37401]

2[Option ID=37402]

3[Option ID=37403]
4[Option ID=37404]

Sl. No.27
QBID:351635312
.
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(1) I=A=sT SR ES |

(3) BT gs Ea )
T o > e
(4) Ewasasavanaa

1[Option ID=37445]




2[Option ID=37446]
3[Option ID=37447]
4[Option ID=37448]

Sl. No.28
QBID:351635313

(4) AT

1[Option ID=37489]
2[Option ID=37490]
3[Option ID=37491]
4[Option ID=37492]

Sl. No.29
QBID:351635314

(1) 7 vESN g FEET 4 TS
(@ 9 x=) g WA 4 Fahs)

(3) 7 NFWSF R I 4 9G35
(4) 7 =@===] ] ﬁ'nﬁr:'l NS

1[Option ID=37533]
2[Option ID=37534]
3[Option ID=37535]
4[Option ID=37536]

Sl. No.30
QBID:351635315
o

:*-E]ﬂ%a’-‘ﬁ%;I@GEFQN ﬂﬂ’“'é:"‘@' ﬂ]iﬁﬂ'?ﬁ' J,__\,__\.;;_. 3.53.
(1) 4%

(2) g

(3) el

@) 7374

1[Option ID=37577]
2[Option ID=37578]
3[Option ID=37579]
4[Option ID=37580]

Sl. No.31
QBID:351635316

5‘@&33«]@@ =3 %mm @ﬂqar‘] n]“ wEFa?
(1) 53
(2) gm“:ﬂ

(3) 27

i

o]
|

(4) 953

\
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1[Option ID=37621]
2[Option ID=37622]
3[Option ID=37623]
4[Option ID=37624]

Sl. No.32
QBID:351635317
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1[Option ID=37665]
2[Option ID=37666]
3[Option ID=37667]
4[Option ID=37668]

Sl. No.33
QBID:351635318

(1) AU
(2) Eqﬁrl
(3) g

(4) q:]{:im%r:m

1[Option ID=37693]
2[Option ID=37694]
3[Option ID=37695]
4[Option ID=37696]
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Sl. No.34
QBID:351635319

(1) Jpy
(2) 74
(3) Iy
(4) T4
1[Option ID=37697]
2[Option ID=37698]

3[Option ID=37699]
4[Option ID=37700]

agEes @,“’F'E_ﬂ;' scad gg A S
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Sl. No.35
QBID:3516353110
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5 3 = “]*‘13@' aEARA i a’
(1) Jeg
(2) T¥sy
3) bla
(4) Tusly

1[Option ID=37405]
2[Option ID=37406]
3[Option ID=37407]
4[Option ID=37408]

Sl. No.36
QBID:3516353111

"

(1) Jleg

2 7374
(3) 4=
(4) 5°°
1[Option ID=37409]
2[Option ID=37410]

3[Option ID=37411]
4[Option ID=37412]

xEaE aguiEcs coxow R GEvostad ossl mEEa?
PIRF A VIS ONIIW Q' GAVICYNY FE 6 FH?

Sl. No.37
QBID:3516353112
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(1) ggt&]‘%r:' ES

) vgl_éﬁ:mm: S e ij‘l%ml
3) %ﬁrﬁq 5E %_J:'ﬁ:':a.u

(4) @q‘%:'m\‘qﬁu}m

1[Option ID=37413]
2[Option ID=37414]
3[Option ID=37415]
4[Option ID=37416]

Sl. No.38
QBID:3516353113

qg e & Diﬁ] Eqﬁa: Agvasar
(1) ey

(2) 7434

(3) JAsH

@) 777

1[Option ID=37417]

2[Option ID=37418]

3[Option ID=37419]
4[Option ID=37420]

Sl. No.39
QBID:3516353114

(1) SR FF Y|
(2) g ,m_;rl‘%n]ml
(3) RITHSIVFY

(4) FVERZIE

SECRESESS agwEnny  Fvgw [5ad Eqﬁ wEFa?

1[Option ID=37421]
2[Option ID=37422]
3[Option ID=37423]
4[Option ID=37424]

Sl. No.40
QBID:3516353115

agvdcy FgaD NEs a8 Naas?
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(1) AR NG|

Sy
(2) F=EFEE
L
TS
(3) T

L

(4) 83 B=w gmd)

1[Option ID=37425]
2[Option ID=37426]
3[Option ID=37427]
4[Option ID=37428]

Sl. No.41
QBID:3516353116
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1) 2§
2 57
(3) 35
(a)
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1[Option ID=37429]
2[Option ID=37430]
3[Option ID=37431]
4[Option ID=37432]

Sl. No.42




QBID:3516353117
Tares; qER WR?
(1) =24
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